Kangweon-Kyungki Math. Jour. 4 (1996), No. 2, pp. 125-133

## APPROXIMATION AND CONVERGENCE OF ACCRETIVE OPERATORS

YOUNG MEE KOH AND YOUNG S. LEE

ABSTRACT. We show that if X is a reflexive Banach space with a uniformly Gâteaux differentiable norm, then the convergence of semigroups acting on Banach spaces  $X_n$  implies the convergence of resolvents of generators of semigroups.

In this paper we show that if X is a reflexive Banach space with a uniformly Gâteaux differentiable norm, then the convergence of a sequence of semigroups acting on different Banach spaces  $X_n$  implies the convergence of the resolvents of the generators defined on  $X_n$ . This improves Theorem 5.3 in [5]. Combining our result with Theorem 3.1 in [5], we can derive a nonlinear version of Trotter-Kato Theorem. This version is useful for studying convergence of numerical approximations of solutions to partial differential equations (see [5]).

Let X be a Banach space. We denote the identity operator by I and the closure of a subset D of X by cl(D). An operator  $A \subset X \times X$ with domain D(A) and range R(A) is said to be accretive if

$$|x_1 - x_2| \le |x_1 - x_2 + r(y_1 - y_2)|$$

for  $[x_i, y_i] \in A$ , i = 1, 2, and r > 0. An accretive operator A is said to be *m*-accretive if R(I + rA) = X for all r > 0. Let  $J_r^A = (I + rA)^{-1}$ , r > 0, be the resolvent of A.

A semigroup on a subset C of X is a function  $S : [0, \infty) \times C \rightarrow C$  satisfying  $S(t_1 + t_2)x = S(t_1)S(t_2)x$  for  $t_1, t_2 \ge 0$  and  $x \in C$ ,  $|S(t)x - S(t)y| \le |x - y|$  for  $x, y \in C, S(0)x = x$  for  $x \in C$ , and S(t)x is continuous in  $t \ge 0$  for each  $x \in C$ .

Received June 18, 1996.

<sup>1991</sup> Mathematics Subject Classification: 47H06.

Key words and phrases: accretive operator, resolvent, semigroup.

If A is accretive and  $R(I + rA) \supset cl(D(A))$  for r > 0, then there exists a semigroup S on cl(D(A)) such that for each  $x \in cl(D(A))$  and  $t \ge 0$ ,

$$S(t)x = \lim_{r \to 0} (I + rA)^{-[t/r]}x,$$

uniformly on bounded t-intervals (see [2, 6]), where  $[\cdot]$  denotes the Gaussian bracket. We shall say that the semigroup S(t) is generated by -A.

We first introduce an approximating sequence of Banach spaces. Let X and  $X_n$  be Banach spaces with norms  $|\cdot|$  and  $|\cdot|_n$ , respectively. For every  $n \ge 1$  there exist bounded linear operators  $P_n : X \to X_n$  and  $E_n : X_n \to X$  satisfying

- (1)  $||P_n|| \le 1$  and  $||E_n|| \le 1$  for all n,
- (2)  $|E_n P_n x x| \to 0$  as  $n \to \infty$  for all  $x \in X$ ,
- (3)  $P_n E_n = I_n$ , where  $I_n$  is the identity on  $X_n$ .

The introduction of  $X_n$ ,  $P_n$  and  $E_n$  is motivated by the approximation of differential equations via difference equations, since the difference operators act on spaces different from the one on which the differential operator acts. For examples of  $\{P_n\}$  and  $\{E_n\}$ , see [5].

Recall that the norm of a Banach space X is said to be uniformly Gâteaux differentiable if for each  $y \in U = \{x \in X : |x| = 1\}$ ,  $\lim_{t\to 0}(|x + ty| - |x|)/t$  exists uniformly for  $x \in U$ . Every Banach space with a uniformly convex dual is a reflexive Banach space with a uniformly Gâteaux differentiable norm. If the norm of X is uniformly Gâteaux differentiable, the duality mapping  $J : X \to X^*$  defined by  $Jx = \{x^* \in X^* : (x, x^*) = |x|^2 = |x^*|^2\}$  is single-valued and uniformly continuous on bounded subsets of X from the strong topology of X to the weak star topology of  $X^*$ .

THEOREM 1. Let X be a reflexive Banach space with a uniformly Gâteaux differentiable norm. Let A be an accretive operator in X such that  $R(I+rA) \supset cl(D(A))$  for r > 0, and let S be the semigroup generated by -A. For each n, let  $A_n$  be an accretive operator in  $X_n$  such that  $R(I+rA_n) \supset cl(D(A_n))$  for r > 0, and let  $S_n$  be the semigroup generated by  $-A_n$ . Suppose that  $P_n(cl(D(A))) \subset cl(D(A_n))$  for each n and cl(D(A)) is convex. If

(I) 
$$\lim_{n \to \infty} E_n S_n(t) P_n x = S(t) x$$

126

for  $x \in cl(D(A))$  and the convergence is uniform on bounded t- intervals, then

(II) 
$$\lim_{n \to \infty} E_n J_r^{A_n} P_n x = J_r^A x$$

for r > 0 and  $x \in cl(D(A))$ .

It is known [5] that (II) implies (I) in any Banach space. That is, (I) and (II) are equivalent. Thus we have a complete nonlinear analog of Trotter-Kato Theorem [3] and our result is a generalization of Theorem 5.3 in [5]. In contrast with the linear case, (I) does not imply (II) in all Banach spaces, even in the one space case, that is,  $X = X_n$  and  $E_n = P_n = I$  for all n (see [2]). In the one space case, our result includes Theorem 1 in [7]. To prove Theorem 1, we start with the following lemma.

LEMMA 2. For each fixed n, let  $A_n$  be an accretive operator in  $X_n$  satisfying  $R(I + rA_n) \supset cl(D(A_n))$  for r > 0 and let  $S_n$  be the semigroup generated by  $-A_n$ . Suppose that  $P_n x \in cl(D(A_n))$  for  $x \in X$  and  $[x_n, z_n] \in A_n$ . Then

$$|E_n x_n - E_n S_n(T) P_n x|^2 - |E_n x_n - E_n P_n x|^2$$
  

$$\leq 2 \int_0^T \langle E_n z_n, \ E_n x_n - E_n S_n(t) P_n x \rangle_s \ dt,$$

where for  $x, y \in X, < x, y >_s = \sup\{(x, y^*) : y^* \in J(y)\}.$ 

*Proof.* Since  $[x_n, z_n] \in A_n$ ,  $\frac{1}{r}((J_r^{A_n})^{k-1}P_nx-(J_r^{A_n})^kP_nx) \in A_n(J_r^{A_n})^kP_nx$ and  $A_n$  is accretive,

$$|x_n - (J_r^{A_n})^k P_n x|_n \le |x_n - (J_r^{A_n})^k P_n x + \alpha (z_n - \frac{1}{r} ((J_r^{A_n})^{k-1} P_n x - (J_r^{A_n})^k P_n x))|_n$$

for  $\alpha > 0$ . So we have

$$|E_n x_n - E_n (J_r^{A_n})^k P_n x|$$
  

$$\leq |E_n x_n - E_n (J_r^{A_n})^k P_n x$$
  

$$+ \alpha (E_n z_n - \frac{1}{r} (E_n (J_r^{A_n})^{k-1} P_n x - E_n (J_r^{A_n})^k P_n x))|.$$

Young Mee Koh and Young S. Lee

By Lemma 1.1 in [4], there exists  $\eta^* \in J(E_n x_n - E_n (J_r^{A_n})^k P_n x)$  such that

$$(E_n z_n - \frac{1}{r} (E_n (J_r^{A_n})^{k-1} P_n x - E_n (J_r^{A_n})^k P_n x), \ \eta^*) \ge 0.$$

Hence we have

$$(E_n z_n, \eta^*) \\ \geq \frac{1}{r} (E_n (J_r^{A_n})^{k-1} P_n x - E_n (J_r^{A_n})^k P_n x, \eta^*) \\ = \frac{1}{r} |E_n x_n - E_n (J_r^{A_n})^k P_n x|^2 - \frac{1}{r} (E_n x_n - E_n (J_r^{A_n})^{k-1} P_n x, \eta^*) \\ \geq \frac{1}{2r} (|E_n x_n - E_n (J_r^{A_n})^k P_n x|^2 - |E_n x_n - E_n (J_r^{A_n})^{k-1} P_n x|^2).$$

For  $kr \leq t < (k+1)r$ ,

$$|E_n x_n - E_n (J_r^{A_n})^k P_n x|^2 - |E_n x_n - E_n (J_r^{A_n})^{k-1} P_n x|^2$$
  

$$\leq 2r(E_n z_n, \eta^*) \leq 2r < E_n z_n, \ E_n x_n - E_n (J_r^{A_n})^{[t/r]} P_n x >_s$$
  

$$\leq 2 \int_{kr}^{(k+1)r} < E_n z_n, \ E_n x_n - E_n (J_r^{A_n})^{[t/r]} P_n x >_s dt.$$

Add these inequalities for  $k = 1, 2, \dots, [T/r]$ . Then

$$|E_n x_n - E_n (J_r^{A_n})^{[T/r]} P_n x|^2 - |E_n x_n - E_n P_n x|^2$$
  

$$\leq 2 \int_r^{([T/r]+1)r} \langle E_n z_n, \ E_n x_n - E_n (J_r^{A_n})^{[t/r]} P_n x \rangle_s dt.$$

Letting  $r \to 0$ , we obtain

$$|E_n x_n - E_n S_n(T) P_n x|^2 - |E_n x_n - E_n P_n x|^2$$
  
$$\leq 2 \int_0^T \langle E_n z_n, \ E_n x_n - E_n S_n(t) P_n x \rangle_s \ dt,$$

by the upper semicontinuity of  $\langle \cdot, \cdot \rangle_s$  and dominated convergence theorem (see [6]).

128

Proof of Theorem 1. Let  $x \in cl(D(A))$  and let  $y_n = E_n J_r^{A_n} P_n x$  for r > 0. Then (see [1])

$$|y_n - E_n P_n x| \le |J_r^{A_n} P_n x - P_n x|_n$$
  
$$\le \frac{4}{r} \int_0^r |P_n x - S_n(t) P_n x|_n dt$$
  
$$= \frac{4}{r} \int_0^r |E_n P_n x - E_n S_n(t) P_n x| dt$$

So  $\{y_n\}$  is bounded. Define  $f : cl(D(A)) \to R$  by

$$f(z) = \operatorname{LIM}\{|y_n - z|^2\},\$$

where LIM is a Banach limit,  $z \in cl(D(A))$  and  $\{y_n\}$  is any subsequence of the original sequence which we continue to denote by  $\{y_n\}$ . Then fis continuous, convex and  $f(z) \to \infty$  as  $|z| \to \infty$ . Since X is reflexive, f has its minimum f(u) over cl(D(A)) for some  $u \in cl(D(A))$ .

For  $0 < \eta \leq 1$ , we have

$$(z-u, J(y_n-u-\eta(z-u))) \le \frac{1}{2\eta}(|y_n-u|^2-|y_n-u-\eta(z-u)|^2).$$

By taking LIM to both sides, we have

LIM{
$$(z - u, J(y_n - u - \eta(z - u)))$$
}  
 $\leq \frac{1}{2\eta} (f(u) - f(u + \eta(z - u))) \leq 0.$ 

By the uniform continuity of J, for each  $\varepsilon > 0$  there exists  $\eta_0$  such that

$$\operatorname{LIM}\{(z-u, J(y_n-u))\} \le \operatorname{LIM}\{(z-u, J(y_n-u-\eta(z-u)))\} + \varepsilon$$

for  $\eta \leq \eta_0$ . Since  $\varepsilon$  is arbitrary,

$$\operatorname{LIM}\{(z-u, J(y_n-u))\} \le 0.$$

By Lemma 2, we have

$$\begin{aligned} &\frac{2}{r} \int_0^T (y_n - E_n P_n x, \ J(y_n - E_n S_n(t) P_n u)) dt \\ &\leq |y_n - E_n P_n u|^2 - |y_n - E_n S_n(T) P_n u|^2, \end{aligned}$$

since  $y_n = E_n P_n y_n$ . Note that  $(y_n - x, J(y_n - u)) - (y_n - E_n P_n x, J(y_n - E_n S_n(t) P_n u))$   $= (y_n - u + u - x, J(y_n - u))$   $- (y_n - E_n S_n(t) P_n u + E_n S_n(t) P_n u - E_n P_n x, J(y_n - E_n S_n(t) P_n u))$   $= |y_n - u|^2 - |y_n - E_n S_n(t) P_n u|^2 + (u - x, J(y_n - u))$   $- (E_n S_n(t) P_n u - E_n P_n x, J(y_n - E_n S_n(t) P_n u))$   $= |y_n - u|^2 - |y_n - E_n S_n(t) P_n u|^2 + (u - x, J(y_n - u))$   $- (E_n S_n(t) P_n u - u + u - x + x - E_n P_n x, J(y_n - E_n S_n(t) P_n u))$   $= |y_n - u|^2 - |y_n - E_n S_n(t) P_n u|^2$   $+ (u - x, J(y_n - u) - J(y_n - E_n S_n(t) P_n u))$   $- (E_n S_n(t) P_n u - u, J(y_n - E_n S_n(t) P_n u))$  $- (E_n S_n(t) P_n u - u, J(y_n - E_n S_n(t) P_n u))$ 

By the uniform continuity of J, it follows that for each  $\varepsilon > 0$  there exist T and  $n_0$  such that

$$(y_n - x, J(y_n - u)) \le (y_n - E_n P_n x, J(y_n - E_n S_n(t) P_n u)) + \varepsilon$$

for all  $0 \le t \le T$  and  $n \ge n_0$ . Hence we have

$$\begin{aligned} \frac{2}{r} \int_0^T (y_n - x, \ J(y_n - u)) dt \\ &\leq \frac{2}{r} \int_0^T (y_n - E_n P_n x, \ J(y_n - E_n S_n(t) P_n u)) dt + \frac{2T}{r} \varepsilon \\ &\leq |y_n - E_n P_n u|^2 - |y_n - E_n S_n(T) P_n u|^2 + \frac{2T}{r} \varepsilon \\ &\leq (|y_n - u| + |u - E_n P_n u|)^2 \\ &- (|y_n - S(T)u| - |S(T)u - E_n S_n(T) P_n u|)^2 + \frac{2T}{r} \varepsilon \\ &= |y_n - u|^2 - |y_n - S(T)u|^2 + K_n + \frac{2T}{r} \varepsilon, \end{aligned}$$

where  $K_n = 2|y_n - u| |u - E_n P_n u| + |u - E_n P_n u|^2 + 2|y_n - S(T)u| |S(T)u - E_n S_n(T)P_n u| + |S(T)u - E_n S_n(T)P_n u|^2$ . Applying LIM to both sides,

we obtain

$$\frac{2T}{r} \text{LIM}\{(y_n - x, J(y_n - u))\} \le f(u) - f(S(T)u) + \frac{2T}{r}\varepsilon \le \frac{2T}{r}\varepsilon.$$

Since  $\varepsilon$  is arbitrary,  $\text{LIM}\{(y_n - x, J(y_n - u))\} \le 0$ . Therefore  $\text{LIM}\{|y_n - u|\} \le 0$ .  $|u|^2$  = LIM{ $(y_n - x, J(y_n - u))$ } + LIM{ $(x - u, J(y_n - u))$ }  $\leq 0.$  So there exists a subsequence  $\{y_{n_k}\}$  such that

$$\lim_{k \to \infty} |y_{n_k} - u| = 0.$$

For s > 0, let  $z_s = (I + \frac{r}{s}(I - S(s)))^{-1}x$ . It is known [8] that  $\lim_{s\to 0} z_s = J_r^A x = v$ . Suppose that  $\lim_{m\to\infty} y_m = u$  for some subsequence  $\{y_m\}$  of  $\{y_n\}$ . We complete the proof by showing that u = v. For T > 0 we have

$$\frac{2}{r} \int_0^T (u - x, J(u - S(t)z_s)) dt$$
  
$$\leq |u - z_s|^2 - |u - S(T)z_s|^2.$$

By the uniform continuity of J, for given  $\varepsilon > 0$ 

$$\frac{2T}{r}(u-x, J(u-v))$$

$$\leq \frac{2}{r} \int_0^T (u-x, J(u-S(t)z_s))dt + \frac{2T}{r}\varepsilon$$

$$\leq |u-z_s|^2 - |u-S(T)z_s|^2 + \frac{2T}{r}\varepsilon.$$

for all sufficiently small T and s. Let s = T. Then

$$\frac{2s}{r}(u-x, J(u-v))$$

$$\leq |u-z_s|^2 - |u-z_s - \frac{s}{r}(z_s - x)|^2 + \frac{2s}{r}\varepsilon$$

$$\leq \frac{2s}{r}(z_s - x, J(u-z_s)) + \frac{2s}{r}\varepsilon.$$

Therefore we have  $(u - x, J(u - v)) \leq (v - x, J(u - v)) + \varepsilon$ , that is,  $|u - v|^2 \leq \varepsilon$ . This completes the proof.  $\Box$ 

Recall the notion of the limit inferior of a sequence of operators  $\{B_n\}$ . The operator limit  $B_n$  is defined by  $[x, y] \in \liminf B_n$  if and only if there exists a sequence  $\{[x_n, y_n]\}$  such that  $[x_n, y_n] \in B_n$ ,  $\lim_{n\to\infty} x_n = x$  and  $\lim_{n\to\infty} y_n = y$ . Combining Theorem 1 with Lemma 3.3 in [5], we establish the equivalency between convergence of semigroups and convergence of *m*-accretive operators.

COROLLARY 3. Let X be a reflexive Banach space with a uniformly Gâteaux differentiable norm. Let A be an m-accretive operator in X and let S be the semigroup generated by -A. For each n let  $A_n$  be an m-accretive operator in  $X_n$  and let  $S_n$  be the semigroup generated by  $-A_n$ . Suppose that  $P_n(cl(D(A))) \subset cl(D(A_n))$  for each n and cl(D(A)) is convex. Then the following are equivalent. (I)  $\lim_{n\to\infty} E_n S_n(t) P_n x = S(t) x$  for each  $x \in cl(D(A))$  and the con-

(1)  $\lim_{n\to\infty} E_n S_n(t) P_n x = S(t) x$  for each  $x \in cl(D(A))$  and the convergence is uniform on bounded t-intervals.

(II)  $\lim_{n\to\infty} E_n J_r^{A_n} P_n x = J_r^A x$  for r > 0 and  $x \in cl(D(A))$ . (III)  $A \subset \liminf E_n A_n P_n$ .

## References

- H. Brézis, New results concerning monotone operators and nonlinear semigroups, Proceedings of a Symposium on Functional and Numerical Analysis of Nonlinear Problems, Kyoto (1974), 1–26.
- M. G. Crandall and T. M. Liggett, Generation of semigroups of nonlinear transformations on a general Banach spaces, Amer. J. Math. 93 (1971), 265– 298.
- K. Ito and F. Kappel, On variational formulation of the Trotter-Kato theorem, CAMS Report # 91-7, Univ. of Southern California (1991).
- T. Kato, Nonlinear semigroups and evolution equations, J. Math. Soc. Japan 19 (1967), 508–520.
- Y. S. Lee and S. Reich, Convergence of accretive operators and nonlinear semigroups, Comm. on Applied Nonlinear Analysis 2 (1995), 11–46.
- I. Miyadera, Some remarks on semigroups of nonlinear operators, Tôhoku Math. Journ. 23 (1971), 245–258.
- S. Reich, Convergence and approximation of nonlinear semigroups, J. Math. Anal. Appl. 76 (1980), 77–83.

 S. Reich, Product formulas, nonlinear semigroups, and accretive operators, J. Funct. Anal. 36 (1980), 147–168.

Department of Mathematics The University of Suwon Suwon, 445 - 743, Korea

Department of Mathematics Seoul Woman's University Seoul, 139 - 774, Korea